Efficiency vs P,

~0.0%
o
£9.009
>
9.008
9]
.007
0]
0.006
0.005
0.004
0.003
0.002
0.001

Ratio
e
R

10 . Gedf’

MKFEITS_T |oTu-|owr)t
mkFit_TT_retrain-lowpt
mkFit_TTold-lowpt

mkFit TT_NEWdefault_specPLess3-lowpt

'::::::::::::é::::::E:::L:}::
gl —
0.004;—----r [ Feeeeees . :* -------
4t ﬂw g,

I
W)
I
IN]
I
AN
-
N
w

TP N

Efficiency vs ¢

& 0.01
[
.009
[5)
$.008
o
£.007
(]
0.006
0.005
0.004
0.003
0.002
0.001

0 y :
L2 HH A HH A

..............................................

............................................

&
-

L _L'...l‘-'-hl.‘:“k‘:llv-.':".'.'.!.'.'.'.'.!.'.'.'.'.!J.'.'.'.].'.'.'.'{.'.'.'.'{.'.'.'.'{.'.'.'.'

Ratio

B

08 U : IRURESE
-3 2 -1 0 T 2 3




	Contents
	Page 1


